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• 29, 31, 33, 35, 37, 39, 41

� 245 � 270 � 315 � 420

• x − 3

2
= 4

� 2 � 3 � 11 � 14

•

� 1015 � 1115 � 1150 � 1500

• x2 − 3x − 4 = 0

� −4 � −1 � 1 � 4
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• x1 x2 x2 − 10x + 21 = 0
2x1x2 + x1 + x2 − 2 =

� 2 � 39 � 50 � 54

• y = x2 + 3 x ∈ [−3; 2]

� 3 � 12 � 0 � 7

• (x, y)

∣
∣
∣
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5x + y = 6
x + 4y = 5

� (1; 1) � (6; 5) � (5; 1) � (1; 4)

• 3x + |x| = 8

� −2 2 � 4 � 2 4 � 2

• √
x2 + 3 ≤ x + 2

� x ∈ (−∞;−1

4
] � x ∈ [−1

4
; +∞) � x ∈ (−∞;−2] � x ∈ [−2;−1

4
]

• 42x−3 = 64−1

� −3 � −2 � −1 � 0

• log2 16 + log3

1

27
=

� 0 � 1 � 2 � 3

•
f(x) = 2x4 + sin x − 1 x =

π

2

� π3
� 8π3

� π2
� 0

•

� 1 � 2 � 4 � 5

•

� 4 �
60

13
�

120

13
� 12
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• ABCD AB = 6 AD = 4 <BAD = 30◦

� 10 � 8 � 24 � 12

• �ABC AB = 7 AC = 4 <BAC = 60◦

C

�
√

33 �
√

37 �
√

65 �
√

93

• 9π

4
=

� −1 � 0 � 1 �

√
2

2

• cos2 15◦ − sin2 15◦

�

√
3

2
�

√
2

2
�

1

2
� 0

•

� 30 � 31 � 45 � 62

•

� 3 � 27 � 30 � 57
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�
2a + b

3a − b − 3
a = 1,5 b = −0,5

1,25

�

∣
∣
∣
∣
∣
∣

x − 4 ≤ 0
2x − 5 ≤ 0
x ≥ 0

[0;
5

2
]

� log2(x
2 + x + 2) ≤ 2

x ∈ [−2; 1]

� a1 = 1
a5 = 81 a3

9

� lim
x→+∞

2x2 − 7x

x2 + 3
=

2

� k |x2−4x| = k

k ∈ (0; 4)

�

32

� �ABC AC = 7 BC = 4 <ABC = 30◦

sin <BAC

2

7

�

65π

100π

�

7
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